QUESTION BANK

SCIENCE

CLASS X

UNIT-1

F¥7 FRUT gHR & 97 (Assertion-Reason type questions) (01 Mark)

Answer Options (37 Q&ew)
(A) Both A and R are true, and R is the correct explanation of A.
A AR R ST HET 8, 3R R, A T @Y sqrean g |
(B) Both A and R are true, but R is not the correct explanation of A.
A 3R R &1 TET 8, feheT R, A T GET sarear 181 &

(C) A is true, but R is false.
AT g, AfSheT R AT B

(D) A is false, but R is true.
ATAd g, AfrT REQTE

No.

Assertion (hYeT)

Reason (RUT)

A balanced chemical equation follows the
law of conservation of mass.

In a chemical reaction, the total mass of
reactants is equal to the total mass of products.

Rt Tafas af@ffFar & affFRe

1 wgfee wemafas adfietor geaa .
. FT Fel GeTATT IcUIGl & Fel gGedAT &
TIETUT & fATH &1 I T g > °
S T B
Rusting of iron is an oxidation reaction. Oxidation reactions always release energy in
5 o the form of heat.
2 | A A T A siterdIERoT HFATBFAT goenm FsAT F T
i 2 # Sl HFd FIA T
Decomposition reactions require heat, light, |[Decomposition reactions are always
or electricity. endothermic.
3 |3rvees afATFARt & AT AT, UHer, |3FqueT AARFAT @A FeArend @
a1 Rega #t amaegFar gl g gl
Double displacement reactions always form ||A precipitate is an insoluble solid formed in a
4 |/ precipitate. chemical reaction.
gfa-faeuras sfafeamat & goven IFTNT UF AT S g ¢ S
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No.

Assertion (h¥e)

Reason (IO

ITAT Tt 2

TS AT #§ qoar §

Combination reactions involve the formation
of a single product.

All combination reactions are exothermic.

> | Rt F o @ S e e s S e )
gt §

Electrolysis of water is a decomposition Decomposition reactions break a compound
reaction. into two or more simpler substances.

6 | #1 Rega Jvued oF JqHged  |HHed AABRA R AifF w7 Q@
EENED 3 e gardt & aise g
Photosynthesis is an endothermic reaction. S§§Z$GMIC reactions absorb heat or light

7 | TERI-FESTO T SRR AR ooy et s @ wamer ot
el F FqANfRa FI E

o . In oxidation, a substance loses electrons, while
Ox1dit10n and reduction always occur in reduction, a substance gains electrons.
Wgetier Ftireor # 1§ vard sawela @ ¥

8 |sifeieTor 3R IrTEsr g vh Wy . VR

. Safd FTTAT H P g1 sAFeT ged
g &
T B
Magnesium ribbon burns with a dazzling Magnesium reacts with oxygen to form
white flame. magnesium oxide.

9 | dvhfas R gHTweR The saten  |[Helifge siteiise & wry AFtEa =
& | ST g Helifas sitFass saman g
A double displacement reaction occurs when
sodium sulfate reacts with barium chloride. A white precipitate of barium sulfate is

10 |[ATRTF Fethe IR IRTH FAREE F | formed.

fafFar 7 gfe-Reure sfafear @

q

AINTA Aehe FT The HIAT a7 ¢l
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MCQs (1 Mark)

% 0

0 Question 9T Answer Options 3 faehey
B3l
A) fAfFIT Fr few v
A) To determine the |feTRT =t & T
direction of reaction .
. et et |[B) To follow the layy ||B) FoF1 &M &
Why is .
b . of conservation of fT# FT dTeled el H
alancing a THIOT FY
1 chemical . |[hass IGLY
equation q:@ﬁa- #FT #97||C) To balance only . 5 8
necessary? R %_? the number of C) sdel dcdl &I
| | clements A dgfd w1 & e
D) To produce more >
energy D) 3if8% FAT 3
el & fou
gfe frdy ddfard
If the total mass (SIS A) 60g
ofracmsing et s |41 608 B L0
‘ C) 240
equation is 3R T C) 240¢g ) 240¢
2 . D)Jg AR Far g &
120g, what will |e=armrer 120g %, |[P) It depends on
be the total « whether the reaction is|37TRTHIAT FSHTEG & AT
mass of SUESSIECS| el lexothermic et
products? GTHAT fohdatl
gIam?
A) 3cATET T Foll i
A) Energy of products|B) shael fHSRPI &
What does a TatT Taae B) Only types of TFR
balanced 3 reactants ) ]
3 chemical HHIAIOT AT C) Number of atoms  ||C) HfRfshar & WTUI}]T
equation o and mass in reaction -
represent? R D) Only quantity of il \HLQI 3R \?\GQHId il
products D) hadl 3cUIGT ahl HTET
cal
Which of the |f@e=Ifaif@d & & ||A) 2H: + 0> — 2H.0 ||A) 2Hz + 02 — 2H:0
following is an - B) CaCO; — CaO + |B) CaCOs — CaO + CO2
4 example of a ) | CO2 C) AgNOs + NaCl — AgCl
combination  |[GIISTeT HIATHAT ||C) AgNOs + NaCl — ||+ NaNOs
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reaction? ST 3ETEI0T &7 AgCl + NaNO:s D) Zn + HCl — ZnCl> + H2
D) Zn + HCI — ZnCl»
+ H-
: IGEGIGIECE R ]
}Zﬁ;‘i&gf ti};ea 7 R A) 2H; + 0> — 2H0 [|A) 2H: + 0> — 2H,0
correct eiam le ~9 B) 2H:0 — 2H>+ O: ||B) 2H:0 — 2H> + O:
5 of an P yreresr srfrfenan C)C+ 02— CO2 C)C+ 02— CO:
. D) NaOH + HCI —  ||D) NaOH + HCI — NaCl +
electrolysis hT HEl 380l
reaction? %_() NaCl + H.0 H:0
. A) Fe + CuSO4 —
Which ofthe &A1& & ¥ |Fes0. + Cu £) Fer CuSOu = FesOur
following is an  |gpis7-7fy Feamger |[B) NaCl + AgNOs — B) NaCl + AgNOs — AgCl
6 example of a AgCl + NaNOs + NaNO
displacement ifaforar C)2Mg + 02 — ’
reaction? 3CTEIOT &7 2MgO g) %IM_% Eloz —;él\C/IIgO
D) Ha + CL — 2HC1 ||P) H2 T €=
What kind of TeY faE II‘I I A) Metal and non- NG I I
compounds are |TATHAT A fFT |metal ° >
” exchanged in a T ¥ mifae B) Only metals B) shael arg
double C) Ions from two C)er AP I 3
displacement  |[&hI 3TETeT-UcTeT  |lcompounds §
reaction? grar &0 D) Only gases D) el Id
A) It turns black due A) IE TECH & FIOT
S ea? to decomposition T B ST &
What happens ; B) It remains Rafd
when silver ﬁ Hﬁ unchanged B) Ig [E‘E d
8 |chloride is o YT H @M ||C) It melts into liquid ||C) T d¥el Aedy H S
exposed to ST silver ST
sunlight? & q D) It forms a new § 5
gier 87 compound with D) Ig JTF&ISTeT o AT
oxygen T AT I IATaAT &
I A)C+ 02— CO:2+
7Y Hiat S
Which of the A) C+ Oz — CO2 + AT
ha lel-dT Th B) NH:«Cl — NH;s +
following is an H)Cl ) " |B) NH.Cl - NH: + HCI
9 Zzgﬁgﬁn ?f an  |[FSHTETY C) Ba(OH)s +2 C) Ba(OH): + NHiCl —
o CIE Ty NH.Cl — BaCl, + 1[3)‘;‘(32 52 N§3 +2o H:0
' S NH; + H.0 20 = Ha + 02
(')
%-. D) H2O — H2 + O:
10 ||A reddish- ST @l T Frel |A) Combination A) TSI ATRTRaT
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type of reaction

R
is this? JHT &Y

RN i

brown deposit is|@r] AT Hethe |[reaction B) 3198 31fAfHar
observed when . B) Decomposition

an iron nail is faerer & sren reaction C) faamas rfaforan
placed in a ST & o offel-  (|C) Displacement D) giafaeardeT fAfshar
copper sulfate T a7 A reaction )

solution. What |°& T R D) Double

SoIdr &1 Ig g ||displacement reaction

One-Word Answer Questions-1 Mark

Question (English)

v (fR=<)

Which type of chemical reaction involves
1. |the breaking down of a compound into
simpler substances?

e gR &1 TaErafas AfAfmar &
ifeTeh aXel verdf # ge S g7

frer uered & fAfRar & aer

5 What is the process called vyhen a substance SiTeIoeT FEOT S T GTHAT FT R
gains oxygen during a reaction?
gl ST &2
5 |[Which type of reaction absorbs heat energy Pl A HATRAT ATATROT & FoAT
" |from the surroundings? rTAM™T FHLdT &2
4 What is the solid product formed in a double ?{WW AR A el arel 3
" ||displacement reaction called? 3CUTE T FAT el ST &2
5 Which law is followed when balancing a TS FHIOT HT {,”%ER' d

chemical equation?

Tag g @IF &1 grele fhar Srar g2

6. |more substances combine to form a single
product?

What do we call a reaction in which two or

3T 3TRTHAT 1 FAT &gl Sar & Tad
ar a7 31f8e ggrd Aeex T 3cure
IS &7

is placed in copper sulfate solution?

What is the reaction called when an iron nail

SIS olig I el I HIUT Tothe [derde
H TW@T AT &, ar glet arelr  3IfAThar &r
FAT FHET AT 82

5|Page




Question (English)

e (fR=<)

Which gas is evolved when zinc reacts with

STa TSl gregleelNeh 31Fel & 41y

8 | S HIATHAT AT & ar T & AT Aeporcdh
ydrochloric acid?
g7
9 Which type of decomposition reaction et A 3qEe AfAfHAT & fav Fvam
" |lrequires heat to occur? 3TI2TF glar 27
o [feal FoNEs I & Tl # gaHT
10 What is the reaction called when silver & ST ¥ ar TRRAIT FT T e
" |/chloride turns grey in sunlight? ed
ST 82
Which reaction releases energy in the form et HY AfAfHIT FoaAT, gehrer AT €afed &
11. . c ¢ o
of heat, light, or sound? &g H Foll HFd hIdl %“’)
9
What is the term for a reaction where 38 TATHAT o FAT Fer Siar g oEH
12. |loxidation and reduction occur o .
simultaneously? STFATHIOT 3R T Th Y I &2
HIeT E3TFAEs g Hr 3ufeafa &
13, Which chemical is us.ed.to test for the S % T FRa T @ 399 R
presence of carbon dioxide gas?
ST 82
9 HIIR Hohe dlg & iy JfaAfear
Which metal is deposited when copper T ARG B
14. sulfate reacts with iron? UG ‘EJI'IT;r 3a
g7
What is the insoluble product formed in the . s 3R T Y
15. |[reaction of barium chloride and sodium SRR IT & FoIa arel Hﬂ?l?—r%ﬁﬁ 3c4iq
(')
sulfate! T FAT FET AT 22
16 Which color change occurs when potassium MeRIIHA AT & HaweT H et A
" |lpermanganate decomposes? T gRade giar g2
Which gas is responsible for the To ~[ E : 37 H3 §Q— 33
17. ||lcharacteristic smell of a rotten egg in some [T T & T Hid AT T 3ITRERT g
chemical reactions? &0
What is the common name of calcium TAT AT &I ITH F 9T JodoF aral
18. |loxide, which is formed during the heating of]|,",

limestone?

HoIH 3FASS T AT ATH FAT
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Question (English)

e (fR=<)

&7

Which ion is responsible for the oxidation

19. ) )
process in redox reactions?

Leierg ATAfRITT 7 3ifardieor gfshar
& T FiT a1 3T ITRERY giaT &2

20 to produce hydrogen gas?

Which metal does not react with dilute acids

i T G1g o] el & AT AR
$Lh BISslold I 3cTeel gl P &7

Short Answer Questions (2 Marks Each)

1\?0' Question (English) e (f2=a))

\ student b AT Teh BT HIATRIA Raad & oo #
student burns magnesium ribbon in

| |loxyeen and notices a white powdery STl & 3R Athe W3S SHAT 9ty @
substance: Identify .the type of reaction &1 39 JATHAT FT YR ggaeT 3R 4
and explain why it is classified as such. N - 1

ddllehcd ohxad IRVl &dll
C
When lead nitrat < with pofaset ST oI5 Asee T AfATHAT e
en lead nitrate reacts with potassium )

, |fiodide, a yellow precipitate forms. Write 3AISTSs & Bl &, dl diel T &7 a8t
Fhe bglanced chemical equation and geldr gl Q-igll?ld Tarafae g fad
identify the type of reaction. s . =~ 51

Hlmia'_»?:ll Heh[X Ugdlda
A piece of zinc metal is placed in a copper e ?']For & §° T HIR THT

3 |[sulfate solution. Predict the observations |[@eIasT & I@T JATAT §, dl AT Tellehed

and write the balanced chemical equation. el dafaa Tarafas geeor o)
) )
Why do decomposition reactions often : HAIT & FAT I E‘ ’

4 |[require heat, light, or electricity? Support |HhIRjN AT ﬁ?@:‘lﬁ I IR AT FT gl
your answer with an example. 9 3eTERT AR 3K &

, , . |[ETEgISteT g & 3uAeT gaedfa delt &
Hydrogen gas is used in the hydrogenation .

5 ||of vegetable oils. Explain the type of BISSIoleIentor H TR ST 81 I e
rlel:acf‘fiorcl1 churring and its significance in || 31fRTFHIT F TFR T gHsT 3R e
e foo¢ ncustry. 3T H $Hh Aged Pl TIAC |
Rusting of iron is an example of which AT S9TET R IR TR

6 type of reaction? Write the chemical ellg T ST #
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Question (English)

wesT (=)

reaction and explain how it can be
prevented.

FT 30T &2 Taafae 3fRferar fow
3R 3@ A & YT IAT0|

Differentiate between an exothermic and

Fearerdy 3R FeATeY rfAfeant &

7  |lan endothermic reaction with suitable . . )
examples. 3R Y TUT 39 3eEI0T &
Why is respiration considered an aHA HY m 2
8 |lexothermic reaction? Write the balanced |[SITdT &2 Sl {-Igll?ld T TeIeh THRIOT
chemical equation for it. o
o ffeay FoNEs & T & T H
When silver chloride is exposed to IGT 7T &, dF Ig a7 T &0 g S ar gl
9 |lsunlight, it turns grey. Explain the reaction ’ S —
and write the chemical equation. sH JfATRAT HF FASIV IR TARAAD
g fod|
Why is the reaction between quicklime g7 §3-]T = (Ca0) IR % St
10 ((CaO) and water highly exothermic? Write|[hr 3fRfshar 3rcafes Fearaidr Far gidl
the balanced equation. : :
g2 Tfeld FeeRtor ford|
How does the reactivity of metals affect H@aﬁ T AMerer fae 3
11 |/displacement reactions? Explain with an F HO gafaad s %’? 3&TeYuT afgd
example. T |
12 How will you test whether a gas evolved ||3TT9 S qlreTor T 6 T AfAfear &
during a reaction is hydrogen or not? 3cTeel I ISl § AT Ael?
13 Explain the significance of balancing a T fe¥eh HFHAIUT T I’IEoIiiflEI Y AT
chemical equation. Hgcd TUSC |
14 |[entify the type of reaction: Na2SOx + frafafaa sfafhar & g & ggar
BaCl — BaSO. + 2NaCl. &Y. Na:SOs + BaCl. — BaSOa + 2NaCl
Why is electrolysis of water classified as a om' & dedd e il
15 ||decomposition reaction? Write the AT AT ST g2 TATTTAeh THIPIOT
chemical equation. |
How do redox reactions play a role in real-|yafag 31fATFHIT aea®ds Aaa &
16 |[life applications like corrosion or

combustion?

HETROT T ega1 otdT Ufsharatt & &a
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1\% Question (English) e (fe=<h)
FEcaqoT gl &7
A student added a piece of sodium metal TH B A S H AT ‘i]TFaf T ghsl
17 |to water. Predict the type of reaction and |3TelT| 3TTRTHAT & YR Fd@TT 3R
write the balanced chemical equation. . :
adferd rarafas HEeRor ford|
13 How does temperature affect the rate of [Tl A AR T a3 Hr
chemical reactions? SO gHTTaT aar &2
19 |Explain why effervescence is observed S 3Fd Frelae @ JfAfhar war g, ar
when acids react with carbonates. ST SoldT & SHHT HRUT FHST|
20 What is the role of catalysts in chemical T RIS & SRS AT F
reactions? Give one example. HIAST 2y &2 T 3eTer &
[N

3 Marks Questions

1\?(') Question (English) e (f2=a))
1 Explain the implications of a balanced I'IEoIiiflEI IS FHIAIOT & JHTET T
chemical equation with an example. 3ETEY0T gigd GHSSU|
Teh BT o il Gothe foheed &l T3
A student heated ferrous sulfate crystals and g7 33 o1 9Rade ¢@r @afad
2 |lobserved a color change. Explain the 2
chemical reaction with a balanced equation. qHRT Hgd TaAfAE IR
HJHASSU|
Differentiate between a displacement and a |fyeemgey 3R efafaeams fafear &
3 ||double displacement reaction with suitable || . )
examples. IR Tove Hfew AR 3emexor S|
4 Why is balancing a chemical equation AT s FHIAOT I'IEaIigIEI HYEAT T
necessary? Justify with an example. HTTTH %‘f_) BRI H%H SIATEAT F|
Identify and justify whether the reaction kSl IR l ‘
5 |[between quicklime and water is exothermic FEHTETAT %‘ T SSATAT, 3’5@ ggdlel Y
or endothermic. 3 3T FROT &
6 ||A reaction occurs between silver nitrate and |[f&eax ASce 3R AT FaREs &
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Question (English)

geT (o)

sodium chloride solutions, forming a white
precipitate. Write the balanced equation and
identify the type of reaction.

faorgeT & g afAtRar adr 8, Sae
U fihe T SeIdl g1 Hdferd
garRoT ford 3R fAfRar & gaR $r
qgdlel Y|

TSih, gTeglerellNeh 3Fel & AT ATATHAT
Zinc reacts with hydrochloric acid to T gISgole 3 3cdeel SLdr gl =g
7  |iproduce hydrogen gas. Explain the reaction - o
in terms of oxidation and reduction. JTRTRAT T HTFATRIOT AR 3T &
eS¢ § GASSU|
Uk BT o Teh 9T forar 3R gram &
A student perform§d an .experlment E.IIld' ArNTRTE ReeT ag & see AvRras
found that magnesium ribbon burns in air to 3 }

8 |form magnesium oxide. Explain why 3TFATSS FoITcT &1 39 3fAfhar &
magnesium is getting oxidized in this NeNfrTT ¥ 3itedieoT FROT
reaction. R ® Bl T

HASSU |
Tg H Yerid fRar ST &t g 6
How can we demonstrate that the reaction | gf=rsy FINISS 3T OIRTT Tohe &
9 |between barium chloride and sodium sulfate
is a double displacement reaction? s i1 HfAfRar T a\ia ERSI)
fHfRar 82
: : Tk FSATATYT 3R U FeAT fAfRar
Give an example of an exothermic and an ‘ ‘

10 |lendothermic reaction. Explain how energy [T 3IgX0T &| Ucdeh Fufa & Sl

changes occur in each case. aRade $4 gar & THSST|
CuO + H. — Cu + H.0 39 31fAfshar &
Consider the reaction: CuO + H. — Cu + 3.“4.{.?[*[{* 'Qa’ R CERIEED H‘@W ﬁ'

11 ||H:20. Identify the oxidizing and reducing . —~

agents and justify your answer. TET HY 3R I I Y 3
SETT|
Explain how rusting of iron is an example AHFIST i A H GNT‘ edTeAT Teh 5T

12 |lof a redox reaction. Support your answer || 3fHfhaT T 38TEI0T FAT &1 Tl 3T I
with a chemical equation. Teh e T EaRT  TISE HIFST
Why do we store silver chloride in dark- A o} drol\I{I$S FI IEY LT & Sigar

13 |lcolored bottles? Explain with the help of a

chemical reaction.

H FO @ 8739 U qEIASR
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1\?(; Question (English) e (fg=a))
fRfRar fr dgrgar & GAsEU|
. . oI5 e 3R e 3maeEs
A reaction between lead nitrate and . )

14 [potassium iodide results in a yellow HfAfRAT 7 el o1 HT 8T FAT B
precipitate. Write the balanced equation and |ggfarg gaieor ford 3T fafyar &
classify the reaction. > .

Y TN T qafiehc A
Explain why decomposition reactions are 3 |‘ e 3|‘i5|i515!l|Q ATATIT: SSATNY

15 ||mostly endothermic in nature. Support your [T gldl &2 Ueh 3GTe0T Afed ITEdT

answer with an example. Y|

Long Answer Questions (4 Marks Each)

S.

No Question (English) e (fg=d))
A student performed an experiment where iron U O F U gaeT fear e ‘_’ﬂ% $T el
nails were placed in copper sulfate solution. FIY Tethe & °lal H SralT 3'|é,"| R CHKILY
Explain the changes observed, write the ¢ o

" ne rved, wri IRadel I SATEAT Y, Gdfeld TS
balanced chemical equation, and analyze why ] 2 )
this reaction is categorized as a displacement FHreRtoT ford, 3R favelwor X 76 ag
reaction. HfafRar feuras sifAfrar Fat Fgendr g

g 3T ogNsT & Tarfes FHeor o
Justify why balancing a chemical equation is Tdford T AT 39T g1 Tah 3ETgLor
ial. Explain with an example how an >

essential. w .

2 - _ GhY AT fh 3radfed 3ifaAfhar Ha
unbalanced reaction can misrepresent the ] 2 )
actual reactants and products. arEdfden 3TASHRDT N 3cUmEr i el alleh

q JEJd X Fhell B

A factory releases effluents containing lead !
nitrate into a nearby river. Explain the type of U HRYTAT 39 ARST STl A @15

3 reaction that occurs when potassium iodide s8¢ (Lead Nitrate) BISAT g, St oAer H el
from the soil reacts with this effluent. Support ¢

_ , Nt SUPPOT orer &1 o9 fedr & Alorg s

your answer with a chemical equation and S
discuss its environmental impact. HASSS S0 oo & AfATHAT &L g, ot
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Question (English)
No.

weeT (fo=<)

ehieTall 3TfoRar g1efl-? sHepT Hfed
Tt FHeor ol 3R 59 fohar &
TITaRoiiT garat WX ==t Y

A compound ‘X’ decomposes on heating and
gives gases ‘Y’ and ‘Z’. ldentify ‘X', ‘Y’, and ‘Z’ if
4 ||'X’ is used in making cakes and ‘Y’ supports
combustion. Write the balanced chemical
equation and categorize the type of reaction.

T AfFE X I WA WY IR 7 A A
faafea g Srar 81 afe X & Sl H
3UAET AT ST § 3R Y &g H el
AT &, ar ‘X, ‘Y, 3R 22 fT ggareT |
Hqfed TamEfas FHeT ford 3R 5w
3ifafRar 1 R AUIiRa +Y)

A solution of barium chloride is mixed with
sodium sulfate. A white precipitate is formed.
5 ||ldentify the reaction type, write the balanced
equation, and explain the importance of
precipitation reactions in real life.

SRTA FARSS & ATt & AfSTHT Tothe
& Ay AR ST &, fSad U dhe a8y
STl §1 38 ATARAT & R $r ggareT &,
sifafranst & areafas Siaed & Agea &r
SqTEAT HL|

During a laboratory experiment, a student
heated copper powder in a china dish. The
powder turned black. Explain the reaction that

Ueh TAERITSAT JIET H, Th ©IF of ASaT 390
H FIIT g3 Fr A FAT| IEST Fem @
IAT| 38 ATATHAT & sarEdr Y, Aol

6
took place, write the balanced equation, and | gafieor ford, 3R 9T T SI9 59 el
describe what happens when hydrogen gas is A ; o >
passed over the black compound. il = r # &
T B
Case Study 1

Context | e

Ravi was conducting an experiment in his school laboratory. He dropped a small piece of sodium
metal into a beaker filled with water. He observed that the metal reacted vigorously, producing
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bubbles and releasing a gas. The reaction was highly exothermic, and the gas produced made a
'pop' sound when ignited.

W 39ar fagarery & YARETRITeT # U 9ART & 8T ATl 38 Il & 8 Th S
# ASYH YT o Teh BIT gohsT STl 3He @ o o1 dliarar & ifAforar v &
&, gorgel 3cUeot 81 @ & AR T 39 fAeher W& A1l Ig AfAfhar sl seamd
oft, 3R fiehele arell 319 STellel W 91T dr 3MarsT & 2|

Questions | 96T

1. Identify the type of chemical reaction occurring in the beaker. | §fehy #H & J&r
A ARRAT &1 IR 98| (1 Mark | 1 37)

2. Write the balanced chemical equation for this reaction. | 3& 3fRfohar &1 F@ﬁ?f
Tarafas GHAEROT ford| (1 Mark | 1 31%)

3. Why is this reaction considered exothermic? Explain with an example. | 38 3TfRfRaT
P FSATETUT FAT gl STAT 82 Ueh 36160l Aied THSNV| (2 Marks | 2 3F)

Case Study 2

Context | e

A farmer noticed that his iron tools, which were left outside during the monsoon, developed a
reddish-brown layer. Curious about this change, he asked a science teacher, who explained that
the tools had undergone a chemical change due to exposure to moisture and air.

Teh T o ¢@m foh 3% oig & IR, S AT & N a6 W I, 30 9T AleA-
S T &I IR S1H 15 A 9 58 IR Pl I 3cgeh AT IR T =i feren
@ goTl Rets F gEsmr & F@ 3R ag & Gud & SR AR F [EEfAw
qRace g3 &

Questions | 94T

1. What is the chemical name of the reddish-brown layer? | F|1?~I'-343 T 6T 9T &7
AT A7 FAT 82 (1 Mark | 1 3)

2. Write the balanced chemical equation for this reaction. | 38 3TTRfeRIAT T F@ﬁ?f
Tarafas GHAEROT ford| (1 Mark | 1 31%)
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3. Explain two ways to prevent rusting. | ST9T of9ld # &l o Gl dlsh Q:FFFg';lTﬁ"yl (2
Marks | 2 37)
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Acid and Base

Assertion-Reason Questions: Acids, Bases, and Salts

1\?0' Assertion (A) / YT (A) Reason (R) / ®RT (R)
o Acid completely ionizes in water, producing a
The pH of an acid is always less than 7. high concentration of H* ions. 37T Grell &
fRdl 31Fel &7 pHEHAT 78 &HA '
1 I P T O ¥ AT glan &, forad He 3mae
31f8F 3cdeet gld &l
Baking soda is used in fire I]?;lll}()?tgossorﬂ?) tf;?ﬁ;sngsoz when heated, which
9 |lextinguishers. SfeRaT AT TIaTRmTeeRT SRR T T ER' CO. BT &, 3
H ST fHAT S B 31T & Tl H FHee el ¢
Bleaching powder loses its effectiveness Bleaching p deer reacts with CO: apd moisture
" 10 a . to form calcium carbonate and chlorine gas.
when exposed to air. SellfddT T35 .
3 | 2 gids % am3 ST W3St CO, 3R Y & ary fAfRar
Uk ol Tk HIAIH Felde IR FAdT g
sreTereierdr @ &ar & R
) Strong acids dissociate completely in water, while
Strong acids have a lower pH than weak ||\yeak acids only partially ionize.
ids. ‘
PR . gael 3l O A O Re ¥ g @
Ueel 3TECl T pH ool 31Fal o N .
5 @ R 2) g, STdfch gelel 31Fcl shdol 3MRI% &7 &
> Fmafad g gl
Washing soda removes calcium and magnesium
Washing soda is used for softening hard |[ions by precipitating them as insoluble
water. carbonates.
5 || gffRreT @r=r &1 3UART FIR St &y (@197 AIST HiedH IR ATARITA 3mat
X BTl gl
Acids react with bases to form salt and || Thjg reaction is called neutralization, where H*
6 |water. ions from acids combine with OH" ions from

3%, 8TRT & a1y AfAfhar s

bases to form water.
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1\?0' Assertion (A) / YT (A) Reason (R) / ®RT (R)
ST 3R ST &1 AT R &1 |58 JfAfRAr S Igrieor sifafkar sad
g, ’Ta# 3FaT | HY 31T 3R &R § OH
3T ARt T FT AT =T B
Plaster of Paris (POP) is stored in _  |[Plaster of Paris absorbs water and converts to
moisture-proof containers. TATFECY 3T ||gypsum, which makes it unusable.
7 R (POP) T AFIE dheert & |POP Ul ¥ o forewe # gRafdd
dafed R siar & gl ST &, s Fg 3o g1 S g
N o blood i 474 A slight change in blood pH can cause serious
The pH of human blood is around 7.4. =l -1 i oo (o & pH 3 goahl |1 UG
g (AT I&d T pH SIHIT 7.4 gl . y
T TR T ATV 3cosd ] Hehdll
J)
J)
Lemon juice turns blue litmus red. (E—ﬁTq:\ Lemon juice contains citric acid, which is acidic
9 |@ T ey freHE 1 arer ¥ &ar |in nature. (7Y F T H WSLH I @ &,
) ST 3T Gpfc BT &)
] ) Sea water contains dissolved sodium chloride,
Commzm salt s obtained from;e:r & which is evaporated to obtain salt. (Fl?ia' ST H
water. (HIHIed odHh Q:H:lal
10 : 3 ° e g3 WSTA FANTSS g ¢, o
aTSAIENUT gaRT 9red fRar ST g1)
MCQ (1-Mark)
1\?0' Question (English) e (TR<) Options (%)

A farmer accidentally
pours excess urea in the
soil, making it more
acidic. Which of the
following should be used
to neutralize the effect?

U fohdTeT arerdl & A
7 fo R 31er e g,
Sraa g8 31fe 3T &
ST g1 Refef@a & @
fohehI 3UTNET JHTT T

(a) Baking soda/afdar @rsr (b)
Vinegar/T8I&T (c) Bleaching
powder/s_c-ﬁﬁﬁT qr3sy (d)
Ammonium chloride/3TF {2z

FARISS
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1\?0' Question (English) e (TR<) Options (%)
HH B & Tow fomar
ST ATfeu?
A student tested a T B o Th ‘ (a) ACidiC/m (b)
colorless liquid with both |[&T sirer 3R el folead ,
blue and red litmus paper, Basic/&TRIT (c) Neutral/3gTEled

and neither changed color.
The substance is likely to
be:

AU ¥ ST, offehel @ig o7

T =TgT Sl Jardy
Had: FIT &7 ohdT &2

(d) Strongly alkaline/FsTgT &
SRR

The pH value of a
substance is found to be
3 |[11. Which of the

following is a possible

fordl gerey &7 pH AT 11
a3 Arafei@a &
O i T ger 8 Fehdr

(a) Lemon juice/F-ﬁTq:\ 3 (b) Dil
Sodium hydroxide solution/ o]
AT gBsiedss Aadd

identity? g7 (c) Vinegar/faehT (d) Milk/ger
A doctor suggests an Ieh STl !i?li?fl # difsa
antacid for a patient Wl A T verfas gSrdl
suffering from acidity. : (a) NaHCO:s (b) HCI (c) H2SO4
4 | Which of the following [F| mromienae 3 & Bl 1 oy
compounds is most likely [T i vartds & ﬁGj\Z‘(
present in the antacid? &l gehar &2
(a) Acetic acid/Tfafes 3rFar
Which of the following IGESIGIEER] JEI' ¥ Pl @ ||(b) Tartaric acid/CTER® 31T
5 |acids is naturally found in |37l $H H UIhfdeh T ||(c) Citric acid/fAfewh 31T (d)
tamarind? & grAT ST 82 Hydrochloric acid/gTSgIFaileh
3Fel

A sample of toothpaste
6 |has a pH of 9.5. What
does this indicate?

YT & Teh AT &l pH

9.581 I FAT AT &7

(a) It is acidic/Tg &I § (b)
It is basic/Tg &R § (c) It is
neutral/Jg 3GTETeT g (d) It is

neither acidic nor basic/dg o

ar IFT § o & &

Which of the following
7" |salts is used in fire
extinguishers?

7T § RArafafada
H § PiT Gr IguT IGANT

THaT SATAT 872

(a) NaCl (b) NaHCO:s (c) CaCOs
(d) KCl
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Question (English)

weeT (f&dh)

Options (%)

A student observed that a
solution turned turmeric

Ueh ©F o ¢l b T
TIoTTT o §odl & HIETST &Y

(a) Acid/3TFeT (b) Base/&TIX (¢)

5 paper red. This indicates |grer v RaT| I frad! Neutral solution/3eTdTeT
the presence of: saitar %}9 ERDEE (d) Salt/eraoT
fifofaa & & a9
9 XSQCES ggiiicglgggg 1S [coteet e IRE (POP)  (a) Ca(OH): (b) CaSOs2H:O ()
(Plaster of Paris)? g & fow 3gAer fRar |CaCos (d) Na:COs

ST 82

1 Word Answer Questions

1\?0' Question (English) Question (Hindi)
1 Which acid is present in ant sting? dIer & 3 H hiel AT 37Fcl IIAT AT g7
g g afder st AR NaOH &1 W

You have baking soda and NaOH. ¥ ﬁ'ﬂ'. E | MU 3

2 |Which alkali would be more suitable for|gRm 3T 412
soap making and why?"
A woman adds a substance while baking a U Afgel Fh TG FHT TH AT wers

3 cake that causes it to rise. Write the chemical |[STeldr %’ Sad & el ofTdl %’I 39 9t T
formula of that substance. TaafEe g3 faf@u)

4 Which gas is released when an acid reacts |91 3iFel 9T ¥ HARAT FIAT & O Pl
with a metal? o g Aharar &2
What is the common name of calcium iR Fethe 378 gI53e HT AHY

5 .
sulfate hemihydrate? ATH T 8

6 What is the pH range of vinegar used in CLUK:] q_ﬂﬁ ?I?T are e pH HTeT e

households?

AT 7 3T &
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Question (English)

Question (Hindi)

When you feel acidity in your stomach after

SId 39 Wed Wi yard Wil & a1 9T i

7 consuming sour food, which substance would ||37&eldl Hedd L %,Fﬁ A9 3@' 3h A &
you use to relieve it? T g gt #1399 FHER

8 ||Which salt i d in fi inguishers? ? o o

ich salt 1s used 1n fire extinguishers?
= forar Srar &2

9 What is the main component of bleaching ST I3sT FT AET HF F4AT B
powder? >

10 |[Which acid is present in vinegar? ATk & Sl T 37FeT I1AT AT g2

1 What is the colour of litmus paper in 3T et & folead 9uR 1 7 a1
acidic solution? g
Which base is used in the production of aTfRIaT ST Soflel # Hled AT &R T3

12 :
washing soda? EIRCIGIE

13 Which compound is responsible for the ELFT & Il T ETEAT & AT HleT @
basic nature of lime water? Iifer IR &2

14 ||What is the pH value of pure water? RICE STel ST pH HTeT FIT g &2

|5 |/Which compound is used to remove the TARR FHORAT T Hel & fAaT &l @
permanent hardness of water? i g=aer fRar STar €7

16 Which industrial chemical is used to Hr&f'r 3R fBesfe saa & it @r
manufacture soaps and detergents? e T AT R STaT 29

17 Which acid is produced in our stomach for [T & foT AR 9T A HA AT HFAT
digestion? 3cToeT BT g7

13 Which indicator turns pink in basic it & g IBRECEC ] W @
solution? T &

19 What is the chemical formula of plaster of ||[“eTT¥CY 3T ARE 1 AR g3 a1
Paris? 27

20 Which salt is used in cold packs for et & Fellsl & fT @it @1 o1a0r 33 U

treating injuries?

H g AT ST 27
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2 Marks Questions

Question (English)

Question (Hindi)

A farmer adds slaked lime (Ca(OH)2) to

WWW@@J&@@T'@T

1 |acidic soil. Explain how it helps in Il (Ca(OH)2) Aerar g1 I8 A &r
improving soil quality. ;
T H UR HH HIdT 87
Why is it recommended to rinse the mouth < Sh# . waret $
2 |lafter consuming acidic food items like citrus |[@deT & &G qE el hr TAwIRer gt &
fruits? ST &0
3 Explain why plaster of Paris (POP) should  |[~eTT¥<Y 37 IRE (POP) FI &l Ife
be stored in a moisture-proof container. el H FIT JIEIT R AT TIfgu?
Why does a bee sting cause pain and S F 5 H aC IR il
4 |irritation? How can it be neutralized using a |[glci! e 3a e EI'QT‘:T\ gery o AfSea
(')
household substance? T ST FepaT &7
A baker accidentally uses baking soda QEF SR I H TR AER & T
5 |linstead of baking powder in a cake recipe.  |[@fohaT TIST FT IGITIT I HIEREL
How will this affect the cake? S T FAT GHG T2
6 Why does an aqueous solution of acid 3l T STl faedsT iaaﬂ“ Ll
conduct electricity? TdToleT AT AT &2
A solution has a pH of 5. A second solution aeh T pH 5 © IR SE EF[ pH 3
7 |has a pH of 3. How many times more acidic g1 CRIRL faerreT uger fr Jefel H fohder
is the second solution compared to the first?
AT 38 el 82
2 Why is it advised not to use metal containers |37 il ard & Al H @A A
for storing pickles? g FAT & 1Y 22
A shampoo brand advertises that its product W Q\h:q\ oIS cH1g Ehér pH
9 |iis "pH balanced." Why is this important for Hglmd STl &1 Ig STl ST ST &
hair care? forT Tt Fgcaqot
10 Why does dry HCI gas not change the color I HC o H@ Frerra Gox BT 0T

of dry litmus paper, but HCI solution does?

20| Page




Question (English)

Question (Hindi)

el ScordT, afeh HCl &7 ST el
dcel ol gl Far

Why do dentists recommend using

cd Rifecgs g mzrl;@%mﬁr

1 toothpaste with mild basic properties? § S FA BT FelE FAT o
g7
Teh O Al felcAd U0 W Teh 37aTd
A student adds a few drops of an unknown ey T & §¢ rard ¥ 3R 3g ara
12 ||solution to blue litmus paper, and it turns ° 0 .
red. What can be inferred about the solution? B ST &1 39 faeds & IR #
Ashy fAprelr ST FohdT 872
13 | Why does common salt (NaCl) not show AT FAHG (NaCl) 3FT I7 6T
basic or acidic properties? 0T FAT AT fg@ran
9
14 ||Why is baki d di ids? . i - il
is baking soda used in antacids?
Y s fehar STar &2
15 What happens when bleaching powder is SIS SellfDiaT II3sY &Y o §HY b &l
exposed to air for a long time? H 3@ AT § A A7 grar g2
16 |How does washing soda help in softening gTael FIST HOR el Al IR ellel
hard water? FO ACE HIAT &7
17 Why is the pH of human blood maintained ~|[F1e1d Y& T pH ofITHdT 7.4 FAT ST
around 7.4? QT ST %'?
N ctres fwo cloan T ST &I Pl Toic STl g Th
company manufactures two cleaning .
|g |[2gents: one with pH 9 and the other with pH el pH 9 AR @Y &1 pH 3 &1 e el
3. Which one would be suitable for cleaning |gr @TR &7 & faT i @r 3
oily stains and why? .
g g SUFA g 3R =
-\ ctudent 4 a salt solution b Teh O o NaCl &l 9l H gicied Teh
student prepared a salt solution by
19 dissolving NaCl in water. Would this SEMIEREERCICRIIEERIIESIIN
solution conduct electricity? Justify your sl [Aead &1 Iarelel L2 39eT
answer. 2 )
3R A 3T g
20 ||Why does lime water turn milky when afr $I il CO; & HIH H 3T W
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Question (English)

Question (Hindi)

exposed to CO2?

e T 4t gr ST g2

3 Marks Question

Q.

No. Question (English)

Question (Hindi)

Why does tooth decay start when pH in the
1  |mouth is lower than 5.5? Explain and
suggest remedy.

ardr 3 WS a9 FAT Y gl § oW AW
T pH 5.5 9 F &I SATdT g2 SITEAT
FIfST 3R 9@ sag FT 39T IAISU|

A farmer wants to neutralize the acidity of
2 |lsoil of his field. Which substance should
be used and why?

Ueh fhareT el Wd &1 fASE i
FARIAT Sl [ATSHT T e gl 39
Pl TT UeTd IYAT FEAT AT 3R
FT

Why does dry HCI gas not change the color

3 |lof dry litmus paper, but its aqueous solution

does?

s HCI I gt foesdd duX &1 @1
fQereT deoT Sar &7

Explain why factory wastes should be
4  |neutralized before disposal into water
bodies.

Tg FAT HEeTSF g foh dRTE &
379TASE I FAARAAT H SIS T Tgol
e har s

A sample of rainwater has a pH of 5.6. Is it

YT ST T pH 5.6 8| FAT g 3Ty,

> acidic, basic, or neutral? Explain. &TRIT AT 3T gIoT? SUTEAT |
How will you differentiate between . IR E A AR
6 |washing soda and baking soda using a I Teh TS TI8ToT CART
i ?
chemical test? THEST|

How does acid rain affect buildings made
of marble? Suggest a way to prevent it.

3T quT TIFER F §oF a1 T H
gITiad AT §2 30 Udhel T Th 3T

ddsy]|

Why do stomach ulcers occur due to
8 |lexcessive secretion of HCI? How can they
be treated?

J¢ H Icdf¥e HCl AT & HRUT e
FAT g ST §? SAPT Sollol hd TohdT ST
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Question (English)

Question (Hindi)

No
Gl 82
Why is baking soda used in fire ? " . E il 2
9 |lextinguishers? Explain the chemical T SITaT 82 39H gle arell T
reaction involved. FTMRFTT A THSET
If someone accidentally spills acid on their afe; FIS A F I FTY RIS '
10 [[hand, why should they wash it with amild |[of AT 38 Uil & S §ooh &R ¥ 4T
base instead of water? e R
11 |Why is the pH of milk different before and GY I pH STHA & Ygel 3R dc # 3efal
after curdling? FIT EﬂHT %”)
12 What will happen if Plaster of Paris is kept I TeEex 3% INA & ofd FTAT I
in open air for a long time? ol gaT & T@T ST b AT g1
9
A doctor suggests a patient take antacids. U ST AU F TS o ﬁ EIEII‘EE ol
13 ||What does it indicate about the patient’s g Ig ANST & TORLT & IRk H 41 33
health? T &7
Explain why pickles should not be stored in AR A YT & gdd H FAT 8T T@aAT
metal containers. Analyze the chemical R 1% a = ) :
14 reactions involved and write the relevant ?sﬂ' ol R ) A
chemical equat]ons. 3'ﬁT mﬁ Wﬁa’? W ﬁ@l
YT F g I & fav Qifsad arswEfac
On what scientific basis is sodium bicarbonate 1 fwIRer fha darfae 3R WX & S
15 |[recommended to relieve indigestion? Write the |[&? 388 YIed 30T JTATHAT Fr
neutralization reaction involved. o B
Why does limewater turn milky when CO- ST el F ol ﬁ CO. rarfee o e &
16 |is passed through it? What happens if dr g ferar &4t gl S g2 Al e A
excess CO: is passed? ¥ CO, yarRa BT ST ar & g
Why is it advised to wash acidic insect T HIT F 3 I.E” TR ST HST e 7
17 |bites with baking soda solution? Write the ||tle T Hellg &aT &r SATAT g2 SGH 9gerd
neutralization reaction involved. S HIoT IRFAT F1 gEewor AR
18 If pH of a sample is found to be 9, what can gfe; fohely SToe &7 pH 9 &, a1 3T 3T

you conclude about its nature? Give an

TIHT & I H FIT [ashY Aepreidr 0T Teh
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Question (English) Question (Hindi)

example of such a substance. 3CTeX0T GIfaTT|

19

Waaaﬁagmﬁﬁw@gram

Why is washing soda used in softening hard Suer Fat fRaT STar &0 5Ee A are

water? Explain the reaction involved.

3TTRfRar FHSTST|

A student mistakenly adds more acid to a

U 1T ITar O har ead & &R &

20 ||solution instead of a base. How can they correct|[solra 318 AT & 31l 3T &l &l 39

it?

FO Sk HAT I b 2

4-- MARKS QUESTIONS

HH TEAT
(S. No.)

9T (Question)

T fhare &7 9T Terar ¢ foh 38T el g 3wy & % g, ey wad
T B W@ §1 S I T hH Il & [T 3T HleA-hld @ 3UT AT
qeftd qaafas AfRfRanst & carear #Y

A farmer finds that the soil in his field has become too acidic for plant growth. Suggest
methods to neutralize the acidity, explaining the chemical reactions involved.

BAR 9 # pH &I TcJolel S0 IWAT FAT 3HTGeTeh 87 Ichieeh 3Feldl & T
JT & Tohd 8, 3N 38 Tafas &9 § $u AafRa fFar s gear §2 saren
cory

Why is it important to maintain the pH of our stomach at an optimal level? What are the
consequences of excessive acidity, and how can it be controlled chemically?

HieAITTeh 3afIse UIT: 31Fel gl § 3R TqWoT &7 ShRUT §eld ¢l & 39fIser
o STeT Hidl & BISel @ Tgel 3TN el o &l dlsh AU 3R FHST|

Industrial effluents are often acidic and cause pollution. Suggest and explain two methods to
treat such effluents before they are released into water bodies.

Ife Tk IHT heh H 37AE AFT F Afher A1 Aer & ar 3@ 3ifaA 3cug W
T T 39T SH TEEIeh §9 § FAAN AR FUR & 3UT 7|

A baker accidentally used an excessive amount of baking soda in a cake. Explain how this
will affect the final product chemically and suggest remedies.

CATEER 3T ARG & FA-Ael e F FAt [@r A1ar €2 AT T A & Tuh HF
3T ST A FA7 g 38 T 3ifffear afga a#snv|

Why is Plaster of Paris stored in a moisture-proof container? What will happen if it is
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HH TEAT
(S. No.)

9T (Question)

‘exposed to moisture? Explain with the chemical reaction.

T BT JINTRMMET # A3 gEgiadss dIR & daedr ol 30 Jfhar,
At 3ifafhan, 3R rages dewfagr v gole Fi

A student wants to prepare sodium hydroxide in a laboratory. Describe the process involved,
the chemical reaction, and necessary precautions.

qrelt & pH T FAYA & fow fhed afienl &1 3uAer Far 31 dhar g2 afe 9 &
Tl T pH 5.5 81, of &1 38 IFaTdT AT Sream? sHer 3T &

What methods can be used to measure the pH of water? If the pH of drinking water is found
to be 5.5, would it be considered safe? Justify your answer.

sellTaar ar3sY 3R dfeher ArsT alAl &1 ee] 3UANeT fahar SiTar §1 St Tafas
o, fordtor fafer, 3T swel & 3R T |

Both bleaching powder and baking soda are used in households. Differentiate between their
chemical formulas, preparation methods, and uses.

3ECT g & pH AT g1 & Jelell H A T4 laT g2 $Hb G0N yerra
T |

Why does acid rain have a lower pH than normal rain? Explain its environmental effects.

10

FioH JTFFaREs & Ul J A W Sia O 3fAfrar giar 239 Fa
3T A HF gAT fRAr Jrar §?

What reaction occurs when calcium oxychloride is mixed with water? How is it used in
industries?

Case Study 1:

Ramesh and Priya were enjoying a meal when Ramesh squeezed lemon juice on his food. Priya
noticed that the lemon juice made her dish taste sour. Curious about the reason behind it, they

asked their

science teacher. Their teacher explained that substances like lemon juice contain

acids, which release H+ ions in solution, making them taste sour. Similarly, substances like soap
taste bitter because they contain bases, which release OH— ions in solution. They also learned
about the importance of pH in daily life, such as in digestion and agriculture.

A 3R 21 Wer @1 @ A, T @A A A Hioled Wi w1 @ A=sT O &
or f& g & W q 3T ISl FT TG el g1 ATl 3egial 39 Tt et &

SHAT HRUT YOT| Iodah RNaTeh o FAST & oAiq & W G gardt # 39 g &, 5

g A H
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T arer @1 § ifh 3 &R @ € S e 7 OH 3 AFd A §l 3R I
o drar foh Efeer Shaet & pH &1 Aged fohae 3R 8, 918 o araer 3R 3y &)

Questions:

1. Why does lemon juice taste sour? (1 mark)
sile &1 TH TeeT FAl oTdl &7 (1 37h)
2. What type of ions are released by bases in aqueous solution? (1 mark)
&R STolid &fel & fohdl GehR o 31T HFT el 82 (1 37h)
3. Explain the role of pH in agriculture. (2 marks)

Y H pH I [HHT I FHASST| (2 37eh)

Case Study 2:

Farmers often face problems related to soil fertility. Ramesh’s uncle, a farmer, noticed that crops
were not growing properly in his field. He consulted an agricultural expert, who tested the soil
and found that it was too acidic. The expert advised adding slaked lime (calcium hydroxide) to
neutralize the acidity. This improved the crop yield. This made Ramesh wonder about the
significance of pH in various aspects of life, such as in tooth decay, stomach acidity, and self-
care products.

fRarer o 3FER fATE Fr IRAT F Fafd FATIAT ST ATHAT AT ISl gl AL
& oI, oY F v e € @ fF 39 Od #H v S A A8 9¢ W@ o
3egil Ueh iy faQwer & el fovar, [Siegler fAce & S & AR arar & g
Ieafas Fend A faAws o 3werdr 1 fafsea w1 & favw gem g3m e
(Wmm@m@)mﬁmalmwaﬁrWﬁwgmm
AL F STl & fafdes ggep3t # pH & Hecd & IR # el W AR H o,
AT gidt fr g5, 9 i Fadr 3R IfFTIT SEHTT 3curer Hi

Questions:

1. Why did the agricultural expert suggest adding slaked lime to the soil? (1 mark)
Y faRIvT o A | go g3 e 3Telel ahl Hellg &1 7 (1 37h)

2. How does pH play a role in tooth decay? (1 mark)
ardll T WS H pH T AT AT BT 82 (1 37eh)

3. Explain two examples where pH plays an important role in everyday life. (2 marks)

&feler SfiaeT 31 pH s Agcaqul A & & 30T HASSU| (2 3ieh)
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LIGH g 3YTq (Metals and Non-Metals)

F.49.

Assertion TfR%Y) (A)

Reason (fRTT) (R)

Metals are good conductors of

Metals have free electrons that move easily.

1 electricity. €I1?_I"31T # waad sﬁ?fl’?l' g § S et
uTg faqga & e 91w At B |y afy w7 gwa ¥
Sodium reacts vigorously with water and air,
Sodium metal is stored in kerosene. forming sodium hydroxide and hydrogen gas.
) | aTg W Red & @ # v QST TR AR FA & wr A s
ST ¥ FLT 8, e AfTH gEsieass 3k
gsgISe 3 S d! &l
Copper does not react with dilute Copper is less reactive than hydrogen in the
hydrochloric acid. reactivity series.
3 |ater @ gERiTeRe 3w & Wiy |qien afFaar Al # gege & A
FfRRFAT T FIar iR Rramefier gar &
. . . Ionic bonds are strong due to the electrostatic
Ionic compounds have high melting and . )
o . force of attraction between oppositely charged
boiling points. ons
4 > . . .
3"“‘?'5" T % et iR gt & ot Rua dgga wdifas smador
FIIAE A A E g % HRUT HAAS 4T g9 g &
Aluminium is used to make aeroplane  ||Aluminium has high tensile strength and is
bodies. corrosion-resistant.
S |wegEfams #1 39AT A SEe  |vegAifed #F 3T aegar afFd @ @
& o g # RRar e g 3t g7 "aRor yfoRiedt gar @
) Rusting is a redox reaction involving iron,
Irop rusts when exposed to air and oxygen, and water.
¢ m’OIStl;:awaﬁtam$'iﬁ ST ST U S AR ¥ e
> : e, e 3R gt F deier g
AT & @Y 9 W ST o AT g N
Gold and platinum are used in making || These metals are highly malleable and do not
jewelry. corrode.
7

W 3R cAfeeTa mawor g A

YT fRT I

¥ 4Tq¢ FAAF ae gt § AR g
HATROT gl ghar 1
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+.9.

Assertion IfR&HYA) (A)

Reason (3RT) (R)

Zinc is used for galvanization of iron.

Zinc forms a protective layer that prevents iron
from rusting.

3ruTd faegd & @ g gl
gl

g |t FT 3T WIE & Aeafianor SIEdT U GUETCAS TN Tl § S g
% fore fvam simar @1 Y ST S & A B
Magnesium reacts with oxygen to form
Magnesium burns with a bright white magnesium oxide, releasing energy.
o [fame. HTNRTH aHAT whg ot |[HIARATH JHiFdIS F ATy FAATHA FF
& T STeldl ¢l AAREA 3ﬁ7=|"\‘|'|33 CoIGL %, B Far
et Bl
Non-metals are poor conductors of Non-metals do not have free electrons to conduct
electricity. electricity.
10

T3t F Rega aga & & v w@aq

gaaCi A8 g ¢l

MCQs (1 Mark)

[Q.No|

Question

H Options

(A) Aluminium is highly reactive
(B) Aluminium forms a protective oxide
layer
(C) Aluminium does not react with air
(D) Aluminium is a noble metal

T AT ST 87

hlsT-HT 0T T3 Y ART A Wi

EY(};};E)?‘)S aluminium not corrode easily (A) ﬂﬂﬁﬁm g 3fafRaTie
I i & o & e ool o | oo € )
C _ o B) UITATIIH Teh HI&TcHS 1SS
ot 7w & B S ®
W FATT Bl
(C) VAT arg & @y ifAfRar
CLICTGIN
(D) ¥IfAfaTd v ifhaneiier eng &
(A) Malleability
Which property of metals allows them to ||(B) Ductility
be drawn into wires? (C) Sonority
2 (D) Conductivity

(A) ITETATEATAT (Malleability)
(B) doIdT (Ductility)
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‘Q.No” Question H Options

(C) &afash (Sonority)
(D) "TelehdT (Conductivity)

(A) It 1s highly reactive with oxygen and water
(B) It does not react with air
(C) It reacts slowly with water

The reason why sodium is stored in (D) It is very light
kerosene is: o (A) TE IS 3R STor & Ty s
ST 82 (B)TE g & AT AFARAT AL T B

(C)TE T & Try PR JTATHAT F:ar glI-
(D) IE FEA ool &I ¢l

‘ o (A) Zn>Fe>Cu> Ag
Identify the correct order of reactivity: (B) Fe > Zn > Ag > Cu

4 |ad frmmehear Fa B ggEe St (C) Cu>Zn>Fe> Ag

(D) Ag>Cu>Zn>Fe
(A) Electrolysis
Which method is used for extracting (B) Redu(;tlon by carbon
o . . (C) Roasting
metals high in the reactivity series? (D) Heating alone
5 [F '.E” SURIER RS A) faegd 3deesT
H@aﬁ & fosspor & fow wler-ar B) Telel GART HITIA
e gater &1 Srdr g2 C) sioieT (QITEE)
D) shdel IRH hdl
(A) Reduction
(B) Oxidation
(C) Displacement
The rusting of iron is an example of: (D) Precipitation
6 | @1 ST o frEer SameRor i |4 T
(B) 3fTerHTeRTOT
(C) faEumaeT
(D) 3ra&rqoT
(A) Strong electrostatic forces
Ionic compounds have high melting (B) Weak molecular forces
points because: (C) They contain water molecules
7 3t APt & 3T e @l ||(D) They have large-sized ions (A) T&T
HI FROT & degd TAfde o

(B) 3UT3it & & FHHSR FoT
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‘Q.No” Question H Options
(C) o9 ST & 397 Bl &
(D) 31 §3 3MHR & 3T 8ld &
Which of the following will not react (A) Zinc
with dilute HCI? (B) Copper
8 Aefaf@a & § Sla-ar el HCl & (C) Magnesium
areyr AfRfRAT A8 HEm? (D) Aluminium
Which metal is used for galvanization? |(A) Copper
o |freasietor 7 R arq @ 3uEer  ((B) Zinc
> (C) Aluminium
ferar e &7 (D) Silver
(A) MgO is formed
(B) MgCl: is formed
] ] _|I(C) H2 gas is released
What happens when magnesium ribbon is (D) No reaction occurs (A) MgO
burnt in air? goTaT &
10 \S& #vahfts ReeT & gar &
? gl (B) MgCl, FeIdT &
STITAT ST &, df T gl &7 (C) H, 3T Foreperdlr
(D) &g JrfRfRAT T gl
(A) They contain free ions
(B) They contain free electrons
Why do ionic compounds conduct (C) They contal.n free atoms .
electricity in molten state? (D) They contain free molecules (A) 3T HeFcd
11 i 2 aifea saear & 3T A €
fege &1 aTolel &4t A &2 (B) 3T HFd Solaelel a1 &
(C) 317 HFd A gl 8
(D) 37 FHFT 3] B &
(A) Painting
(B) Galvanization
The best method to prevent rusting of (C) Oiling
iron is: (D) Keeping in dry air
12 |G & S oFreT & Suey Y gaw  ||(A) 9T T
= R Far B (B) Fedargatarat
(C) AT ST
(D) §ET gaT # IGeT
13 Which metal does not react with dilute  ||(A) Zinc
HCI but reacts with hot concentrated (B) Copper
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‘Q.No” Question Options
HCI1? (C) Iron
hisT-8T &1 o] HCl & ary (D) Aluminium
HCl & @1 &l g2
(A) Roasting '
The chemical process used to extract (B) Electro}yms
. ) . (C) Reduction
highly reactive metals is: (D) Calcination
14 © M H’I?\I;&ﬁ' I A) W(Roasting)
T & ferw ITAT AT S ared B) FIE 39Tes (Electrolysis)
TE T gishar %-3 C) A9dA=T(Reduction)
D) fdmasT (Calcination)
(A) Malleability
(B) Ductility
The property that allows metals to be (C) Conductivity
beaten into thin sheets is: (D) Sonority
15 |errgaft @1 qiesy gger @est & (A) JTETATYHIAAT) Malleability)
3 X
e QIUT FEeTaT %.: (B) d=IdT )Ductility)
(C) ITeThdT )Conductivity)
(D) &afareIfdiar )Sonority)
(A) High melting point
(B) Brittle nature
) o (C) Ductility
Which of the following is NOT a (D) Electrical conductivity
property of metals? A)3TT T
16 \rafaf@d & & Fia-ar argsi v .
. > (B) $TIT
T T &7 (C) T
(D) faega amerehar
(A) Aluminium
(B) Potassium
. : . (C) Copper
Which metal is the most reactive? (D) Gold
17 [P @ Pl UG TR () vt
31 foRameier 82 (B) deRTH
(C) areT
(D) &=
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‘Q.No” Question H Options
(A) Aluminium
Which of the following metals is (B) Sgdlum
. . (C) Zinc
extracted by reduction with carbon? (D) Potassium (A)
18 ﬁmﬁf@a A q Fla-dr g @ e
ldel Al HY9dded ﬂ ldchlell Slldl (B)m
g7 (c) i
(D) G TR
. (A) FeO
19 What is the formula of rust? (B) Fe205.xH20
STaT T T AT 82 (C) FesO4
(D) FeO:
(A) Carbon
(B) Sulphur
Which non-metal is used in the process of](C) PhOSPhOTUS
vulcanization of rubber? (D) Nitrogen
20 |3 & FeeNaoT T U 7 Fhe- (AT (
HT TSI BT AT §? (BHET (
2 (CPTERIE (
(DATSSIST (
One Word Answer Questions
‘Q.No“ Question ” Question |
1 Name the property of metals due to ag it AT ot ¢ foras roT QJI'IT:_JB-]T il
which they can be drawn into thin wires. |gqqer Rt & dT ST hdT &2
) Which metal is stored in kerosene to foher ‘Eﬂ?;[ &l EI'I'{[ & @y AR
prevent its reaction with air? IO & U Acd & ad & @I J1ar g2
What is the chemical process in which a a8 'W ¢ d
3 metal is gradually eaten up by ard JgTaRoir SReT GEIRY - s
environmental factors? & S &0
4 What is the method of preventing STEdT I W TG ey T TETROT &
ion b ting 1 ith zinc?
corrosion by coating iron with zinc SRl r ufshar a7 FHgarar &2
5 Which process is used to extract pure T A 3= e & B
metals from their ores? S
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‘Q.No“ Question ” Question
forT it T gfohar &1 3udler forar Srar
g7
Which non-metal is a good conductor of feTa
6 electricity? it & 3|E‘"E,,| e Gl galaa; gk_‘” %'(’
7 What is the anode in the electrolysis of farerer 'g’(’ NaCl & Taqu 3Ee H TS
molten NaCl? FAT BT 27
8 zgls;;s the common name of caleium oo oy TFASS & ATHT AT FT &2
9 Which metal does not react with dilute hisT & H@ H"_i HCls& @y 3ifAfhar =gt
HCI? el
10 |What type of bond is formed in NaC1?  |[NaCl & @il IT §¢ §eIdT &7
1 Name the process used to refine blister AT I AT IRAMAT Fer r gfehar
copper. hl ATH ddrsU|
12 Which element is alloyed with iron to g & SR o111 & v foha dca
make stainless steel rustproof? A & Ao Jrar £
9
o9 i Tohameie arg ST & A1y
13 Which gas is r@leased when a reactive SRR S L ar FiF O I scatd
metal reacts with water?
gl &2
14 ||What is the ore of Aluminium? U’Fﬂ?ﬂﬁm &l HIEh AT a’?
15 Name the impurity removed in froth el Terae fafer 7 fona H%ola\ia T geT
flotation process. ST 27
16 |Which metal is obtained by electrolytic Q"qoijla" & 'raqf:',d 3qEe NI Hlel AT
reduction of alumina? Td 9TCT I ST 892
9
17 Which metal is more reactive: Iron or hieT & H@ 3t foramefter %5 SIQERII
Zinc? STEAT?
gooh dolel & $RUT §dls SIglel & & &
Which metal is used for making aircraft ‘
18 , S : AT & fha arg &1 39Aer fhar arar
bodies due to its light weight? 3
g?
19 What is the greenlsh'layer formed on i TR HETROT & FROT S aTe &9
copper due to corrosion?
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Q.Noj

Question

” Question

U FAT Shgalar &7

20

What is the method of coating a metal
surface with another metal using
electrolysis?

fdegd rqEce &1 3TN Fih Teh a1
I TAE W A U1 T WA TG H
TfShaT AT FgaTdl &2

2 Marks Questions

Q.

No.

Question (English)

Question (Hindi)

Why do ionic compounds have high

smafas e &1 3= o 3R

iron from rusting?

! melting and boiling points? FAUATR FAT BT &7
A piece of iron is left in the open for SRR % U Cohs H 3o % fow

2 some time and it acquires a brown E;l)?‘?f gdr H ©is &ar Arar %’, ar 3@ W ﬂ(\ﬁ
coating. Explain why. Ra F 3T SIS %.?

3 ||Why do non-metals generally form 34a|<_‘|a’3u ATATTT: HUMRIT gTdl g, Sidfeh
anions while metals form cations? TV AT STl &, FA

) ’ )

4 Why is aluminium preferred over iron 91T % g F & AT g H g

for making aircraft bodies? TeTHIAIH I FAT TAT ST 82
o )
: Teh T Uledl & A1 TATHAT aleh Teh

A metal reacts with water to form a K

5 |lstrong base and hydrogen gas. Identify |[9del & 3R HEERG T g g1 3F
the metal and write the reaction. ?-TITBT 1 ugae &Y 3R A A

6 Why is sodium kept immersed in STA A A & Tl A W T @
kerosene? ST 27

- |[Why does zinc displace hydrogen from SIEAT de] 3 ¥ gIsgie & fawaniad
dilute acid, but copper does not? AT g, Afehed dTeT 8T T &, FA

TS H T & 9T J81 oIeTdr § Sidfeh

Why does copper not corrode easily ; :

8 | hile iron docs? clie H 3T d ST 9T ST gl FHROT

EGLEM
o |[Why is galvanization used to prevent g I ST o9 & 9= & foT

reaaiiaoT  FAT AT ST 82
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Question (English)

Question (Hindi)

No.
10 Compare electrolytic reduction and iaa}ljl UG ITITA TG Fleied CEIN
reduction by carbon. NITITT I JoledT Fi|
9
1 Explain why stainless steel is preferred Il & fAAT H TeAH Tl QF?T
over pure iron in making utensils. e T 3% wafAsar a7 & Jrar &2
12 Why does gold not corrode even after  |[Gl=AT ﬁ gul deh TETRA  &Fdf 1eT gidl &
many years? ?
13 [Why is hydrogen gas not evolved when ais E‘"Eomu ASfeeh e § JFATRAT A &,
metals react with nitric acid? A gT83Ielel 3 3cUed FAT oTT gldl 87
14 Explain why calcium floats when added hIeRIIA &I Il # 3ol W Tg FAT Rl
to water. &9
15 Why are amphoteric oxides important in ?JIEoIaiil A gy mrgg E2ll WTJT
metallurgy? &0
16 Why does iron lose its magnetic ST dllE P TS T AT S & v
properties when heated strongly? g YT gahig [AAYar FAt @ gar g2
9
fAcdt Ush 3o dleleh gl & ddole
17 Why is s1lyer no‘t used to make electrical e a] S & St 39T e @
wires despite being a good conductor? ~
STci?
faior st & s erqai @ ey argait
13 Explain wh}{ alloys are preferred OVer ey oot & 318 g Rear It & ST
pure metals in construction. 2
&
19 Why is extraction of aluminum more U@,ﬁﬁ'&ﬂ 1 faseyor dg i Jelodl A
expensive than iron? 37 AgIT FAT &7
Why do ionic compounds conduct . . .m oA 3 EFT.
20 |[electricity in molten state but not in solid [FdTeleT FAT el X offchel gd ATAT H

state?

FL &7

3 Marks Questions
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Question (English & Hindi)

Why do ionic compounds have high melting points? Explain with an example.

3mafas et F1 TaeE w0F FAT gar 82 th 3SEIr 9fed GHASEv|

A piece of iron was left in the open for some days and a brown layer was observed. Identify
the phenomenon and explain how it can be prevented.

dle U1g FT T gHST Fo R & AT g & @ =, 5w w oy W fr wa
g AS| 5T geaAT HT 9gareT HY 3R 5@ Uhad F 3UT 4180

Why is aluminum used for making aircraft bodies, while copper is not?

§aI$ JETST F g & AT F vegfAfaww 1 39 F=6 FAr aran €, Jefe
die FT ALI?

Explain why sodium is stored in kerosene, but phosphorus is stored in water.

fETA # Aed & aa & IR FEERT F I A F4 @ ST R?

A student added a metal X to copper sulfate solution and observed that the solution turned
green. Identify metal X and write the reaction.

UF BT A FIR Febe g F g X orell , FwR o g @ wm arg X
ygalT & 3R FRFRAr /)

Explain why gold and platinum are used to make jewelry, but iron is not.

A IR cAfear smwor e F e F4F 3w e g § Jefe aer @

A sample of iron reacts with dilute HCI, but silver does not. Justify with a balanced
equation.

dle uTq a HCIF a1y HAFRAT FC 8, afFa Reaw 7@t s& wqfaa
THIEIOT & WIT FAFZC

Why does magnesium ribbon burn with a dazzling white flame, while copper does not?

HARIH RaaT Isoad Ghe Fardl & T STddT &, STdfdh dieT Jgi F41?

Why does silver not react with dilute acids but reacts with sulfur compounds in air?
feat oo el @ AfAfFa a8t w1l afer ag & srus I & @ FE
g1 T4

10

Explain why copper does not react with HCI but reacts with nitric acid.

dieT HC1 & HRTRar a1l Fean, afda asfes sa @ Fwar &1 12

11

Why is electrolysis used for the extraction of aluminum, but not for iron?

regfafaae & faswdor #F fagga srques 1 39Alr fRar Srar B, Afke W &
foT g Far

‘12 ”How does galvanization protect iron from rusting?
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Question (English & Hindi)

Aedarsatee dlg F1 Fr o9 @ FO TE@ET 2

13

Zinc reacts with both acids and bases, but copper does not. Justify.

STEAT 3FaT 3R &Ry QA ¥ wATRAT FIar &, AfFaT aEr €11 Tase fifSwl

14

Why is stainless steel preferred over pure iron in making utensils?

qdel g H TeAAH FET FY Yy AR FY Jo F 741 yraf@Awar § anelr 2

15

Silver jewelry loses its shine after some time. Explain why and how it can be prevented.

fAeay & IO F& AT 91 TAF @ &d §1 F2 3 IFA F 3T @B

16

A metal is placed in copper sulfate solution, and no reaction occurs. What can you conclude
about the metal?

wa@aﬂwmmﬁmmaﬁtaﬁéaﬂmaﬁglwﬂ@r%
IR & F1 AsHY AFET ST Fhar 82

17

Why is aluminum more reactive than iron but does not corrode easily?

regfafags ag @ aftw sfdframefie 8, R oft smamht @ s a8t aoran w1

18

A student observed that under normal conditions, zinc reacts with hydrochloric acid but not with
sodium hydroxide. Explain the reason. Also mention the conditions under which zinc reacts with
sodium hydroxide. Write the necessary chemical equations as well.

TS B o @ F Ay oRfeufaat & Sear sssieaiRe sea @ sfdfear
T ¥, AT QRTH grggiraEs @ 7l sWHT FROT FABC | Tg Y FAET
A T IR # Jwar ARTH gEsiFaEs F ANFAT Far &1 maEs
gt oY fafa@w)

19

Why is calcium stored in an air-tight container, but iron is not?

HICUIH Y TYTEY U A @I AT 8, AfeT g F; g =402

20

What will happen if a strip of copper is kept in ferrous sulfate solution? Justify.

gfe did A 9ed WA Fehe g & el v A F41 gem? aF wied 39 &)
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4 Marks Questions

9T (Question )

Explain why metals conduct electricity and heat better than non-metals, using the concept
of free electrons.

HFA FAFClAl 1 FTUROM FT 3UANT & AT F F urg ¥ega 3k s
FT FaTerel IETGHT F Joronm # HAF ol T F FA A B

How does the reactivity series help in predicting displacement reactions? Explain with
examples.

frareiierar Aoft Aeyrge AfATFIET i afgsgam F3 7 F ges adr 2
3CTEI0T Afgd TIsC FI|

Compare the physical and chemical properties of ionic and covalent compounds with
examples.

s 3R gewdew Aiffw & sifas ik Tarfas ot @ serr wfea
qelet &, |

A metal X reacts with dilute hydrochloric acid to form a salt and hydrogen gas. Identify X
and justify your answer based on the reactivity series.

UF U X A FRHFAING I+ F WY FAATFA F:T vF wqor 3R ggea
AT Taredt &1 X A ggae w3 v 3T A fhareliear Aol F smar w
FAHTY|

HExplain why Aluminium does not corrode easily even though it is a highly reactive metal.

Il vegEfaas e scafas sf@frarefie arg 2, R o 97 smaeh @
"R 4T g1 g g2 TS |

A jeweler prefers gold for making ornaments but copper is also used in small amounts.
Explain why.

UF YAR IO a0 & fAC Wt F wrAfAFar dar §, A 9 Amr F aiw
&1 8ft 3TN FIAT ¥ FROT TS HY |

Why is electrolysis used for the extraction of highly reactive metals like sodium and
potassium?

aifsger 3 dReRae S safts afdframie aqat & fsedor & oo
fega srvaea F4t araeaF g7
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9% (Question )

HDesign an experiment to compare the reactivity of Iron, Zinc, and Copper with dilute acids.

alte, sream 3R A A a IFdl F Ay AfARFETRTar fr g FA e
v B #Y

”Suggest three methods to prevent rusting of iron and explain their working principles.

il & Sior @ TUT F et 3UrT g 3R 39 w1 Rt F wHS|

10

Analyze why copper vessels develop a greenish layer over time. What is this layer
composed of?

de & 9d AT & O &0 Wd FF Qg sd 82 38 Ra Faw <= @
¥4

HJ ustify why sodium metal is stored in kerosene and not in water.

AT a1g F AT & A9 & @M Iar g, e 7 a@ 5w FYT B 3R
SEET|

”Create a flowchart showing the major steps involved in the extraction of iron from its ore.

IR 3AFH @ oI F fasdor & ggad yq@ ol F gufd aren v yare
e T80

Case Study 1:

During a chemistry experiment, a student placed small pieces of zinc, copper, and iron in
separate test tubes containing dilute hydrochloric acid (HCI). She observed that bubbles formed
rapidly in the zinc test tube, slowly in the iron test tube, and not at all in the copper test tube.

BT & STET, dlET 3R ollg & I gohg 3elaT-370T GHeTor Aflehi3it & gdo
gISgIFcllReh 3Fel (HCI) & AT STl | 38 @ foh ST&ar hr adigtor sferer # ashr &
Jolqel a1, g 1 # €R-€R 3R did 1 7 fSeper g8 1

Questions:

1. (1 Mark - Analysis)
Based on the observations, arrange these metals in the correct order of reactivity.

feT 1T JraeishaAl & YR W, 37 T3 Hr IoTht JifAfshamiierar & @@l Hd
A cgafeyd w1l
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2. (1 Mark - Evaluate)
Why does copper not react with dilute hydrochloric acid, while zinc does?

oIS o] gTSgioFellReh 31FeT & ATy JHTAFHAT FT At T § Siafeh ST

AT &7

3. (2 Marks - Create)
If you were to design an experiment to test the reactivity of a new metal, what steps
would you take and why?

gie 39 fohdl @78 arq o JTATHATATCAT T q&ToT el & fw Teh =T
f3atse FTaT I, d 3T FHid-ld T FeH 3awar IR F3?

Case Study 2:

Sodium chloride (NaCl) is commonly used in food and is an ionic compound. It has a high
melting point and dissolves in water. In contrast, sugar (Ci2H22011) also dissolves in water but
does not conduct electricity, while NaCl solution does.

AQIfTTH FARES (NaCl) 3MHGR W Matd & 39T fhar Sar § 3R s 3mafas
IIf3Teh B SHHT Aelelich 3T BT & 3R T§ U=l H goral §1 q@l 3R, el
(C12H22011)3'ﬁ' qreT & %ﬂ' STdr %,?IW tl-ad\:’:l,d I dTcled FI%T m,\_ﬂa'ﬁ; NaCl g
T Bl

Questions:

1. (1 Mark - Analysis)
Why does NaCl conduct electricity in water, but sugar does not?

NaCl ST # fdegd 1 dlelel FT &, AfeheT et w76 @ 4

2. (1 Mark - Evaluate)
Would NaCl still conduct electricity if melted? Justify your answer.

e NaCl ! TUEerr ST ot o241 J§ aegd &l Hleled HYaM? 39l 3e @l

3Rd SEUsy|
3. (2 Marks - Create)
Design a simple experiment to test whether an unknown substance is ionic or covalent.

Ig W A & T fF FI5 a9 g1 3mafas § a1 agadieis, T a3
ganeT f3esa #i|

Case Study 3:
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A farmer notices that his iron tools left outside in the rain start rusting over time. However, when
he coats them with paint, the rusting process slows down significantly. Similarly, galvanized iron
pipes in his house remain rust-free.

T RA SE@ar § & 38% e & 3R, o Sk 7 agx wig fear srar &
AT & YT 9T ol[¥Td 9T & | gTeAifoh, ST 98 3og Ue Tl g, dl ST ofdled hl
gfshar HTehr efielT g1 STl §1 38 oRE, 38F W A W S i RAGFd g & a1

ST e BEd gl

Questions:

1. (1 Mark - Analysis)
Why do iron tools rust when exposed to rainwater?

aTRET & Ul & HYS H 3 W ol & NART F ST AT 97T g2
2. (1 Mark - Evaluate)
Why does painting or galvanization prevent rusting?

gfear a7 AcaarsAAersT ST Je & FAT g &7
3. (2 Marks - Create)

Suggest two alternative methods (other than painting and galvanization) to prevent
rusting and explain how they work.

ST i & §u & AT & dehfous il gersu (9feer 3R dedarsaer i
BIg) IR JH=ET fF T FJ F1H FJ B
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Carbon and its compounds:

MCQ (1 Mark)

Assertion (A) el

Reason (R) spIROT

FTdel Tk TgadlTh 94 il
gl
Carbon compounds form covalent
bonds.

Pl FT JATSTRdT IR BT & IR Ig 37T

TRATIHT & WY Felaclel HIST HY Hehel &
Carbon has a valency of four and can share electrons
with other atoms.

T gI83loled & AT ANMcHS
3 AfRar ar gl

Ethene undergoes an addition reaction
with hydrogen.

Tl Ueh 3o gISgiehrael ¢ 3R 3o &
3uiEyfa & gBsio & @y AMATRAr FX

gehdT &l

Ethene is an unsaturated hydrocarbon and can react
with hydrogen in the presence of a catalyst.

Tdsige 3Fa (R el
foreHT & offel & &aT &l

Ethanoic acid turns blue litmus red.

Frffrafos 3Fd FFT yHa & 8 §
Fifeh 3TH ~COOH fohaiTcHsh FHg iem &

Carboxylic acids are acidic in nature due to the
presence of the -COOH functional group.

"Il BISgIehlee] Tes Sdlell &

Ty STeld gl

Saturated hydrocarbons burn with a
clean flame.

AT ETS3IhTae dhaol Uehel ST dTeT Bd &
3R o g5 @ Terd Bl

Saturated hydrocarbons contain only single bonds
and undergo complete combustion.

FrelT iR TTesgss & 3Teer-37aT

foraTcHs @ 81 Bl
Ketones and aldehydes have different
functional groups.

UfesgIss # —CHO @Hg gIdT &, Siafeh ek &

>C=0 §Hg gl ¢l
Aldehydes contain the -CHO group, while ketones
contain the >C=0 group.

Toehlgel ol JHTeFdIehd ahieh
Qi<*36|§3 H qﬁaﬁﬁ foRar &

HohdT gl
Alcohols can be converted into
aldehydes.

Tealgd T 3ifFdiavur ufesgies & AT

T 1
Oxidation of alcohols leads to the formation of
aldehydes.

TdATT Teh 37TST Hlede
(EEIREDRS

TATel A TUT AT AT Terdt H arer
HehdT Bl
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& Assertion (A) YT Reason (R) SpIROT
Ethanol is a good solvent. Ethanol can dissolve both polar and non-polar
substances.
g | I FRHET e H Fde Uhel TY B B
Ethene is a saturated hydrocarbon. Ethene contains only single bonds.
ATt HOR STl H FHE & @ [A1eeT A HToIA 3R AR =1t &
9 |BTET AT FATAT| Y HTAIEAT oauT Fofel T G gl &
Soap does not form lather effectively ||Soap reacts with calcium and magnesium ions to
in hard water. form insoluble salts.
fScsic # Helthe AT Hohlec FHE B0 & oif
10 WWW*@?%I mqﬁmﬁmgl

Detergents are alkaline in nature.

Detergents contain sulfate or sulfonate groups that

exhibit alkaline nature.

1 Mark Questions

S}

[98)

[

(o)

|

CACG WA fhcda HgHAIeTh TUF Fol
HehdlT 7

How many covalent bonds can a carbon
atom form?

HC BISSInlee]  hlef AT §EeT Trm
ST &2

Which type of bond is present in saturated
hydrocarbons?

Tl 3R TdAISH T H HiT-ar
#Hifder 0T AT R =TT 82

Which physical property primarily
differentiates ethanol from ethanoic acid?

AT T STl " ?:Iaolo-\l arelT HT9T SHiA-AT

BT &7

Which part of soap dissolves in water?

IS TRATT] T AR helell gl &2

What is the valency of a carbon atom?

hicT-HT TATHIT HJod FTSSIhI I
3Cd gISgies # gRafdd Sl 87

Which reaction converts saturated
hydrocarbons into unsaturated
hydrocarbons?

Frafs QAR 7 T 3fRE g S

Arell GATSTohdT AT 82

What is the most common type of bonding
in organic compounds?

8

Pl Sl Flé?ﬂ?j;@ﬁ ‘;ITf% (Versatile nature)

What is the primary reason for the versatile
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I HET HROT FAT g7

nature of carbon?

59 3R AR # *ia 3fOs
rtRfeRarfer 87

Which is more reactive: ethene or ethyne?

hiT-8T lelfeich TieTeh AT Follel o foIw
ERICINNG Y

Which organic compound is used to make
soap?

Uoched, Toshled 3R Uchiged H e
3fRYh IICA HlA-T Bl 82

Which of alkanes, alkenes, and alkynes is
the most unsaturated?

12@TgeT 3R fSesic & HE&T 3o} F41 82

What is the key difference between soaps
and detergents?

dellel H HlA-AT fohdlcAs HHg 9
ST &2

Which functional group is present in
ethanol?

HIT-TY TATHAT Tohed I Tohled H

Y oRafie e v

Which reaction converts alkanes into
alkenes?

15" TUISH e T AT ATH FIT g2

What is the common name of ethanoic acid?

TAATST & 39T fhg &7 & forar Srar
&7

16

What is ethanol commonly used as?

?Uﬂﬁﬁﬁﬁﬁgﬂﬂ%ﬁam%ﬁ)

Why is ethanol soluble in water?

PlT-AY FTRTHIAT TAATT FT TAASH 3T
& gRafda a=dr &2

Which reaction converts ethanol into
ethanoic acid?

AT T 3UHATeIh THE fha ishar @
HHASTIT ST 82

Which process explains the cleansing action
of soap?

20/ & frder 39ET giad &

How many allotropes does carbon have?

2 Marks Questions

Q.

No. Question

9T

Why does carbon form a large number of

1 compounds?

FId Sl s TS FIT FTT 82

How does the presence of a functional group

affect the properties of an organic

Waﬂémmésgrﬂﬁaﬁ
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Question

9T

compound?

foraTcasr o & 3ufeafa & genfaa
T 87

Compare the properties of saturated and

"o 3R IS ETSgIhieel & IO

3 unsaturated hydrocarbons. oIl Y|
9
Tl ATl H golereliel glar & dfehet
Why is ethanol soluble in water but ethanoic ‘
4 llacid has limited solubility? CAAIEH 3F WA Jeretefierar 4t
@ §?
5 How does the combustion of hydrocarbons EISIhISel o gl & TTaRor GVl E)
contribute to environmental pollution? grar &7
g GASU fh FOR ST # AT T
6 Justify why soap does not work well in hard T FE AG AT AT Besfe Far
water but detergents do.
J
FASIST o TdAISH 3T H Th ol
- Ex'plam why ethanmc acid is galle@aweak 3T &Y FET ST &, ST 9% U
acid, despite being a carboxylic acid.
Freifrafos e gl
Predict the molecular formula of the product A o o1 T (CoHe)
8 formed when ethene (C,Hs) undergoes an gIsstolel A (Hy) & ATy 1T AfATHAT e
addition reaction with hydrogen gas (Hz). Write & at 3cure &1 31T01fdss @ &1 gl
the chemical equation for the reaction. e =T = A o
Aol A o -l et 3R
Evaluate why ketones and aldehydes show UfesEEe GHE AT Beel TERIRAE
? similar but distinct chemical reactions. ¢ . )
FATFIT i |
10 How does chain length affect the boiling Todhd] %lc'@'?vlT I SIS 3T FIYATh
point of alkanes? Explain . FO gHTfad FAT §7 ATEAT R
11 |[Why is ethanoic acid used as a food TS el P W TEH & T H
preservative? FIr 39T fRar ST 82
12 Differentiate between substitution and gfaeaTds 3R AT AFATRAIN 7 R

addition reactions with suitable examples.

Y 3R 3UgeFd 3ereor &l
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Question

9T

Predict the type of reaction when bromine is

3TAT MU foh STd SiefleT &l weh

13 added to an unsaturated hydrocarbon. S gregleptsiet H &
e W 1 3rfAfhaT gref?
14 ||Why is soap ineffective in acidic water? %?"
aoiel Y T 3iferdisior fAfFHare
Describe how oxidation reactions help in N " 5
15 identifying alcohols. U‘?dnlsd T dEEIT 7 FH e
J
Jg AU fF Teplgad, Teshed 3iR
16 Justify why alkynes are more reactive than ToRI=T 6T goe & 3 R
alkanes and alkenes. ] o2
ot 8 B
17 How can you experimentally distinguish 39 v 3R TS HEdT & A
between ethanol and ethanoic acid? g ®7 T F@ FA FT Thd 27
Why do homologous series exhibit similar g Ao FAT Tarfos It =
18 |lchemical properties but different physical TGTTd T & olfehet Hifae 90T 3efdT-
o '
properties’ 37erT g’IT-T %?
S AgT & fderdel @ del 3R gl &
A soap solution is added to oil and water. FremaT STaT ymioT
19 Explain the formation of an emulsion. & ar gEeR H
Y g g2
TASATel I TAAIGH el H Hd
20 How can ethanol be converted to ethanoic qRaEfia fraT ST G & Rt

acid? Write the reaction.

g |

3 Marks Questions

Q.No

Question

9T

Explain why carbon forms covalent
bonds instead of ionic bonds.

JHASST fh Fed 3Ifas a4 & ST
egdTeleh ¢ A7 JATdT 87
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Q.No

Question

90T

Predict the impact of the versatile nature

hTSeT T FAAHET Fepic o1 fafdes

2 of carbon on the formation of different |&Tafeteh AT & HAUT W 9HIT Hr
carbon compounds. qaTeTE e oSy
N D
3 Compare the physical and chemical Todhel 3R Tedhrs & sifas 3R
properties of alkanes and alkynes. TarafaE 0t Y oA FY|
9 9
A compound has the molecular formula QEF T 3 ‘ T CaHiO %1’
4 C4H00O. Identify the possible functional gafaa foharcas Wff FT ggaT Y 3
groups and justify your answer. 399 39T & 3R e Y
Justify why the homologous series e T OIS % ol E
5 follows a regular pattern in physical and 3R TEEES U;I'Uﬁ H e AT dea &1
chemical properties. qrereT T Far B
3THIT oEsT & fe vdier @t
6 |[Predict what will happen if ethanolis |l yteprarcor ifpraater & sifaeiiger R
oxidized using an oxidizing agent. ¢
ST dr A1 glem?
- |[Evaluate the impact of combustion of BTSSRIl o ggel 1 GATARUT TN eI I
hydrocarbons on the environment. Hodlhed |
o
3 Design an experiment to differentiate Uh UTCSEISS IR AT & & IHR FA
between an aldehyde and a ketone. & foT T gAeT f3emsaT Y
Why is ethanoic acid called a weak acid E FI TH g i 3 el
9 despite being soluble in water? Explain |[STTdT § STafeh Ig dreir & ﬂﬂ?r‘\’ﬁﬂ' A ED
with reasoning. aRd gESIST|
gelid ¢ foh ol 3R Felr s dr=r &
10 Spggest hoW soaps and detergents work TS 3R Rese o3 S I R
differently in hard and soft water. o2
gl
3TeeATcHe & & 39T i foh R
Critically analyze why alcohols are STTEY efeeRE et b AT
1 considered both beneficial and harmful. Al IR 3
ST B
A hydrocarbon burns with a yellow, N STl
12 sooty flame. Predict whether it is T EIESIpra dell, Fifer arelt F
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Q.No Question 9T
saturated or unsaturated and justify. T STeIdT &1 37T JIsT o Ig dgod
9 [
& v 3-]14'8(_58 3R 3ifRcT iilaﬁl H|
Ethanol is used as a fuel. Analyze its I f * W A ‘
13 |ladvantages and disadvantages over ST g1 IRIRe SY=T Hr Jelel H 8%
conventional fuels. T3 3R Eiferat @ fageNr
14 Devise a method to test whether a given [[J¢ Sae & fav T A fawfaa X &
solution is soap or detergent. IS foIT ITAT T TeT g AT 3ot
9
Why do soaps not work well in hard > [ I RE ?r. Al
15 |lwater? Suggest an alternative cleaning |[sTgl FIdT? Teh dhfous WS Tsic &T
agent. y
g <l
Propose a method to distinguish between g GRIETOT T
16 |fa carboxylic acid and an alcohol using a |[FrEifFafod 3 3R Tewlga & o
simple test. 3R F T U AR gEarRd wi
17 Explain how detergents are more AASST & FOR a= # f3esfe it $r
effective than soaps in hard water. JAAT H 31T gAY FAT gl gl
9
A compound has a molecular formula W ‘ il . {F CHe %’I‘ >t
18  ||CsHg. Predict its possible structures and TTfad I3t i Hwfasgamly &t 34k
pustity. MR Ry Y|
Evaluate the role of substitution gTaearae 3fAFant i gf@sT &1
19  |reactions in organic chemistry with an . .
example. 3CTEXUT & HIY HedTehol il
20 Justify why alkynes are more reactive  [[J¢ 3T SEIST o Uodhiged Todhed ol
than alkanes. dee & 31fae ifafrarnier =i g €
9

4 Marks Questions

Question

9T

Explain how the versatility of carbon is
responsible for the existence of a large

W@%aﬂéﬁaﬁraﬁ@rw%
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No Question YT
number of carbon compounds. FTafareh Iiferen fr I2r AT *
3fdca & T 0 SFaer §

Differentiate between the molecular structures

Uche], Todhlel 3R TodhlssT & 3IUTIdHh

2 |of alkanes, alkenes, and alkynes with TIATT H 37X FI 3¢eX0T Afgd
examples. TS|
3 |Compare the chemical properties of ethanol Tdelel 3R Tdeigh IFd & TETAS
and ethanoic acid. IOt &Y JoAT PITAT]
9 9
AT Soft &7 Agcd 30T Tigd
Explain the significance of the homologous HASISU| Ig Fefash A &
4  |lseries with an example. How does it help in .
the systematic study of carbon compounds? AT HETAT H HH TEIS gl
g7
Ig JATOIT HIfST fF FoR oo A
5 Justify why soaps are less effective in hard T oo &Y gemr & e cardy
water compared to detergents. S ] 3
T B g
How does covalent bonding in carbon ﬁr E ‘E E :
6 |compounds contribute to their diverse afaer [FAYar3t & FT e Sar g2
properties? Explain with examples. 3eTe]UT T THSSY|
Explain how the combustion and oxidation Eu STST T . 1 g5t 3R
7 |[reactions of carbon compounds are used in JTFHTRIOT ATRTHAT AR i Siaed
daily life. ‘ :
A HA ggFT gl g
Propose a method to distinguish between RITelt :lfl" < IR <
8 ||saturated and unsaturated hydrocarbons in a gISSIdes & g el I fafey
laboratory. SR A
: : freT srafaes difA1w & ol
Analyze the role of functional groups in . K .
9 |/determining the properties of organic UIRT Fa #7 foharcas FI?:LET $r
compounds. s 1 Ragerwor AT
10 Ethanol is widely used in industries. Discuss TAATST HT 3a\2:||3|'| H g9 39T

its advantages and disadvantages as a fuel.

fohar ST 81 30 T SUT & &I A
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Question

9T

STAIT e & oI 3R grfaar T=n
FIToTT|

Explain the role of addition and substitution

Fafieh AT H JET vg gfaeaya

1 reactions in organic chemistry with examples. 3t N F :
HJHASSU|
Compare the effects of ethanol and ethanoic AT 3 TAITH 31??*[‘ & forears
12 |acid on litmus paper and explain the reason  [I9X 9T TG FHT Jefell #< 3R s@H
behind this difference. dIe T HROT THSST|
AT hr JferdeRtor fAfRaT A
13 Demgn an experiment to show the oxidation TeitiT F ¥ T uE g &
reaction of ethanol.
G F3T|
39 9 T AgA AR T f3esie
A soap solution and a detergent solution are | gyer Iqorses gl 3T FY g &
14 |lavailable. How will you determine which one . y
is more effective in cleaning greasy clothes? FIshel Ut &I | ililé H Pt S
THTAT &7
Why is ethanoic acid called a weak acid even TAAISh 3 1 TH 3 Rl
15 |{though it turns blue litmus red? Explain with |[hgT JTdT &, ST I =it folcdad T
reasons. AT T ST §? PROT Aled TASST
16 Discuss the role of carbon compounds in the SIS 1) 33?1"“ H e A
pharmaceutical industry. T AFr 9T T hIfaT]
Predict the possible products of a combustion ¢ IR ’3-|Hdcbd 6!$§|*|q°1 il 'qso-l
17 |freaction involving a saturated and an fATRIT A Icue Fafad 3carer &r
unsaturated hydrocarbon. sfysTarol #Y|
Tg gATOT FfAT & drer AfAfsare
Justify why addition reactions occur only in ||y . S P et
18 unsaturated hydrocarbons. crfqﬂ S FISSIepTele H e
gl
How do detergents affect the environment g FT doleT & Beole 9aaIor &
19 |compared to soaps? Suggest an eco-friendly N 2

alternative.

FO gafad T §? T gATEI0T
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Question YT

3]l QeeT &1 geia cifaT|

afe fre A &1 smurfas g
If a compound has the molecular formula C:HO &, ar sas gfad frarcas

20 ||C3H60, predict its possible functional groups . . 5
and explain their properties. gl T gEEeT 3N 3 I
HJHASSU|

Case Study 1:

Carbon is a unique element due to its tetravalency (IR '\':i'-!ﬂGIT:I-FIT) and catenation (ﬁ}iﬁlﬂ' )

properties. It forms stable covalent bonds (FITfY HgHdSIh ) by sharing electrons with

other elements. For example, methane (CHa) has single covalent bonds, while ethene (C:Ha) and
ethyne (C:H:) have double and triple bonds, respectively. The ability of carbon to form diverse
compounds makes it essential in organic chemistry.

FET TF HGAAT dcd § FAIh SHH aqsHATSTHRar 3R A@eret &7 e g gl
Ig T dcal & HTY SFerdl P WIS P TgHATSTd S ST ¢l 388307 & fov,
AT (CH.) ThaT gTdTolsh a8 oIl g, ST Al (C:He) 3R U487 (C.H,) H
HALT: gfd AR 3 97 g1a 81 Affiea A e i &77aT & FROT FeA Frafah
A T Ueh Hecdol ded gl

Questions | 9T

1. (1 Mark)
Why does carbon form covalent bonds instead of ionic bonds?

FIE HATAEF a9 & o9 GgadIoS a4 FAT qIrdT 82

2. (1 Mark)
Among ethene (C:H4) and ethyne (C:H:), which compound has a stronger bond and
why?
T (C:Hs) 31X TUEaT (C.H:) & Fia-a1 i+ 3f0F yaer a¢ w@ar § 3
41

3. (2 Marks)
Design a simple model to explain the formation of a covalent bond in ethene.

Tl H HgEdASd 94 & AR F A F AT vF WA AlSA qA19]
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Case Study 2:

Organic compounds are classified into homologous seriesbased on similar structures and
chemical properties . Each successive member differs by a —CH: group, maintaining similar
properties. Ethanol (C:HsOH) is an alcohol (-OH group), while ethanal (CH:CHO) is an
aldehyde (-CHO group). Understanding nomenclature and chemical properties helps
differentiate organic compounds.

Frefeieh TRl 1 3ot @Caar X TEETAF it & YR W HSATAHT AN H Fefiena
forar ST 81 93 AT Hedg #H —CH. Hg #1 3R giar § 3R q#A= o7 81 g
381E0T & AT, Tdelel (C;H-OH) U Tedhlgd (-OH WHE) ¢, ST TdsTel (CH:CHO)
T Ufese3s (-CHO §HE) ¢ | Amaor 3R wwrafas aqort s aose fafdes sefs
iRt & T 3R TRaT ST Tehar g

Questions | 9T

1. (1 Mark)
Why does the boiling point increase as we move up the homologous series?

AT A H FIR dgad W FaYATH FAT d6dT 82
2. (1 Mark)

Which functional group is present in ethanoic acid, and how does it influence its
solubility in water?

wsigE IHFA H FIA-A1 fFareAs wAg 8T §, 3R a7 s I A
gaaefiear # F& genfaa wwar 2

3. (2 Marks)
Propose a method to distinguish between an alcohol and a ketone using a simple
chemical test.

T&h HTHURUT TERAAF GHET0T T 3YANT Fd Tedhlgd I HT & o A
T A I geafaad 1
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